SMITFEL 082 7 BEIT
Z)IETZESEE —REEFEEER (BHIE)
AEEERZ2 1K1 0

BERE 3, 7T83FE

BahE 3, 765X

mIhE 18%

gi BEHERE ik IR TT BEH L%
1 iz AoV EATE b 37.000 &
2 IR HDoL EATE %) 214.000 =
3 TIE DK EATE 2] 234.243 =
4 BEIEE W OF BAHER i) 302.000 =
5 FIER A ZEZ mE %) 233.000 =
6 A EE AR 3 151.537 &
7 BEF HEo EATE g 237.000 e
8 EE Tunb HiTE * 279.000 =
9 A E2hE TR i) 412.462 X
10 fEIEE A ED TR 5] 320.000 X
11 =3 E2&LL EAE R 238.000 E
12 TE5 RB— ®ATE 5] 415.000 X
13 B kLo AR i 330.756 =
14 THz AR i 361.000 =

XKIEEHRO/NEEIE, HADICLDERTT,

HANEL, BEEOFICA—DERA, KXIZZOBREFEEN 2 BULVWI5E, HEA
RICZDEKE, EXIEFBDAEZLHLIEELH 1= L TE. TNTNDIE[HEDHFRELK
DENFICIG L TR R ZEEWLWET,

(NEEZFEFE 6 85D 2)




